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1. Find |Im{X—4}— ?(5%)
x—4" ,X _1
(A) % (B) 0. (C) o. (D) 4.
2. Find I In[S/m(H)] (Apply ’Hopit al’s Rule). Here, In is the nature logarithm. ( 5%)

(A) % (B) . (C) 1. (D) 0.

3. Let function f(y)=y (y*+9)™", y is the variable. Please try to select which one in the following is the
critical points and local maximum or local minimum? ( 5%)
(A) Critical points: -3, 3; 3 is the local maximum ; -3 is the local minimum.
(B) Critical points: -3, 3; - 3 is the local maximum ; 3 is the local minimum.
(C) No critical points; no local minima or maxima.
(D) Critical points: -3, 0, 3; local maximum is 3; local minimum -3.

. do
4. Assume 0 is a function of r, and r* +sin(@) = 6°r>, how about P ? (5%)

_30%r* —4ar? _460%r* -3r°
) E_Zcos(e)—r%? ' ®) E_cos(e)—zﬁe '

_40%r?-3r? _30%rt—4r’
© W_Zcos(e)—r%? ' ®) E_cos(e)—Zr%? '

5. Find the result of the indefinite integral: w = I y*sin(2y®)*xdy =? (5%)
1 2 1 2

(A) —Ecos(Zy )+C. (B) —Zcos(Zy )+C.
1 2 1 2

(©) —gcos(Zy )+C. (D) —Ecos(Zy )+C.

6. Find the define integral, W=["" sin(6)*cos(6)*d0 =2 (5%)

(A) 2. (B) 4. (C) 1/2. (D) 1/4.
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7. Find the indefinite integral by using integration by parts: I y® xeV’ xdy =? (5%)
(A) e[ y*-1]+C. (B) %eys[ y* -1+C.
(C) 3e’’[y® -1]+C. (D) e’ [3y°*-1] +C.

8. Assume a firm can sell q items for p = 250 - 0.01q dollars apiece, and it costs the firm c(q) = 1000 +
25q dollars to produce the q items. Find the production quantity and the sale price per item required to

maximize profit. ( 5%)
(A) 10,000 watches at $150.00 each. (B) 11,250 watches at $248.89 each.
(C) 11,250 watches at $137.50 each. (D) 13,750 watches at $112.50 each.

3 ox?
9. Evaluate the result of the following double integral: J; J; sin(x?) *dy *dx. ( 5%)

1+2cos(27 1+cos(27 1-sin(27 1-cos(27
(A) 1H200527) @) 1SN oy 1=sin@T) (D) 1260527
3 3 3 3
10 .Find the following integral: I:(yz +1)*xeVdy =? (5%)
(A) e’ +3 (B) 4e+3 (C) 3e‘l+3' (D) 6e " +3

S PR (R 10%)

1. Find the slope of the graph of the function (x? + y?)? = 8x2y at the point (2, 2). ( 10%)

3x-1
x2+3

2
2. Find the derivative of f(x) = ( ) . (10%)

3. Find the integral [ xvVx2 — 1dx. ( 10%)
4. Find the integral [ x? In(x) dx. ( 10%)

5. Find the maximum of V = xyz, subject to the constraint 6x + 4y + 3z — 24 = 0. ( 10%)




